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a—F A Eik | BER (kg) %R (F) = o Sl P (HAL)
30200 & 65 2 2 21BN 304
Y3015 7 & U E 130 11 11 11| B 123
31700 % ¢~ 32 292 162 54 22| B 4r—2
31800 EH A 47 5,963 43 27 11| BH 236
31900 #aX 6 2, 290 432 378 270 | B 6kg
35220 XM XEHE 11 5,128 648 432 389 | BN 1lkg
135303 RAFyTEZALD 4 1, 350 432 281 270 | B 14kg
Y3115 (ExAES 86 216 216 216 | B Okg
36200 M 50 4, 860 108 97 76| &M 50kg
36600 ' FmFERE 4 1,782 108 70 70| BH 2018
36600 7mFhE 12 3, 607 65 65 54 | BN 594
33400 | L& & 6 59 5 5 5/ &M 111A
33410 H=—1L & R 1 194 43 43 11| 5W 643
33200 AV TTU— 20 4, 590 119 119 108 | &M 39{H
33300 |7 m vy =3 — 30 1,512 65 65 32 | B 30kg
133300 Tmy ) — 28 4, 882 76 54 11| BW 921A
33303 A7 4 vrTaval 1, 382 86 86 86 | B/ 1648
Y3030 VG4 () 4, 752 1, 620 1, 620 1,512 | B 3kg
31310 A TE 86 5 5 51 &M 163
41806 =AM A 250 44, 874 1,080 1,080 162 | BN RESAN
46108 ENIEDONEE 42 60, 793 464 432 356 | 5N 1393y 7
171011 RS L—35 6,912 54 32 32BN 1804
71150 L 648 32 32 32| B 203K
53456 7o Aok 4 864 216 216 216 | BN 4kg
Y5004 &4 15 4, 698 378 378 216 | B 15kg
53101 (E L KR 2 1,134 756 756 756 | B 2kg
Y3019 HF DY 3 7,582 2,808 2,808 2,808 | B 3kg
V5010 Sbsx (H) 1 454 648 648 648 | B lkg
30100 7V Z A 119 2, 581 54 22 12| BRE 124K
30100 72\ Z A B 10 108 108 108 108 | BEJR K 17y —2
30300 | A% L 100 14, 040 1,404 1, 404 1, 404 |HEA 1047 — A&
31100 1 H3E 240 2, 668 324 108 108 | B & 164 — A
33810 FREE 8 3,024 1,512 1,512 1,512 ARG 24— A
33810 | HEY 4 1,296 65 65 65 IR 204%
32600 45 4 259 32 11 11| EERE 204
31700 % v~ 140 1,231 216 54 54 | FEYLE 1447 — A
31950 HAX 15 3, 456 864 864 540 R B 54 — A
31900 ¥ S 8 3, 499 324 216 216 R B 153 (500g)
32800 125 6,048 108 86 65 B I 0%
34300 7gd 2L 10 6, 480 3, 240 3, 240 3, 240 | A& 24— R
34300 72 L 100 3,888  1,944| 1,944 1,944 REA 2k — R




b & L BROEMmAS 2H
A=K fhh Fik | PR (kg) %8 () i i 2ol P Hh (BAL)
34400 k=~ b S 24 8, 424 1, 404 1, 404 1,404 \EIRE 647 — A
34460 =Lt F b 11 3, 888 76 76 65 | B I 54,3 7
34100 |HAJK L 10 3, 888 1,944 1, 944 1,944 |EIR B 24— R

34200 |/ 39 5, 438 216 119 108| == —3— 39kg

| ‘ 7K
34571 X7 U A (R) 1 432 86 86 86 | 8% [E 5{#
34572 XU H (3) 3 3,002 205 205 108 | 8% [E C17{E
36210 A—2A v (F) 2L 20 3,888 1,944 1,944 1,944 | E i 24— R
36600 7-EAAX 100 20, 520 4, 320 4,320 3,240 (e - 54— R
37200 | L & 5 2L 12 3,996 1, 404 1,296 1,296 | FE 34— R
33400 | L ¥ R 7 756 54 54 54 | B 141
33410 Y=—LHF R L 3 648 43 43 43| BERE 15f&
32900 Y — 2 432 216 216 216 | %2 2
33600 /3t Y 1 378 108 54 54 | K4y 548
138100 A LWL 6 4, 428 756 756 648 | = IR 64— A
38100 £ LW\t 11 6, 156 4 54 54 | "B IR 114,85 7
31310 AP 8 864 22 22 22 | & [ 4048
31500 Mxmﬁ 12 1, 944 32 32 32 | 1@l 6042
32500 (AT 2 216 11 11 11 | & 205
34800 B H 2 810 54 54 54| % A IGE SN
37560 | BBIT 1 1,901 216 173 173 | K%y 10,8y 7
38300 A2 3 1, 966 76 76 76 | K45y 264
38400 X OEH 10 3,078 32 32 29 | K4y © 10048
38400  Z DX FH 10 4,752 2,376 2,376 2,376 | B IR 24— R
41806 7oA A 30 10,152  1,728| 1,728 1,620 B 67 —A
42320 VaFa—L R 10 5, 400 5, 400 5, 400 5, 400 | #H ¢ 17r—2
Y4017 H 50U B 40 864 324 216 108 | L% 4l —R
Y4036 RV RE D 2 1,361 194 194 194|F U TRy
49100 NFF 180 21,168 1,944 972 972| 7 4 Y ¥ 16— A
Y5006 | #IP (B5h) 20 4, 493 2,246 2, 246 2,246 | BB 24— A

CEll 1.845]  344.790|
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